3 (Sem—4/CBCS) ECO HG/RC

2024
ECONOMICS
( Honours Generic/ Regular Course )
Paper : ECO-HG/RC-4016
( Principles of Macroeconomics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
Co eppTyed Bey '

a) Who put forward the IS-LM model?
IS-LM f¥CH R Soage ¢

(b) What is the condition for equilibrium in
the goods market?

T3} ISIRI SR 56 7
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(2)

Define effective demand.

e wifdm sigen fagn |

What is meant by aggregate supply?
ARSI e R w2

What is stagflation?

oS R 9

What is meant by unemployment rate?
R 23 e R w2

Give an assumption of multiplier.

B GO1 SRR By |

What is Balance of Payments?
T STl 1 2

Give the meaning of demonetization.

Ryuresam wef forr |

What is exchange rate?

Rfmga e

( Continued )

(3)

2. Answer the following questions : 2x5=10
oo ST O o :
(a) What are the components of ‘aggregate
demand?
AR SRR SR & 2

() Why is the slope of IS curve negative?
IS R¥R O ¥ 92

c) Show the differences between Current
Account and Capital Account.

P RoF SIF T BorR qTeR NYEPER
el | |

(d) Mention two features of inflation.

PR 01 0 S

(e) What are the two types of foreign
exchange market?

o Rivww I6/E 101 o) & &2
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3. Answer any four of the following questions :
' S5x4=20

©oq =PIYRS R le TiibR e for

(a) Define aggregate demand curve. Why
does the aggregate demand curve slope
downward? ‘

TR oW @R S fan 1 e st
(RIS CoTFICE GIEfcAidl 9 2

(b} What are the limitations of IS-LM
model?

IS-LM wif3g Rgraermz & &2

(c) Explain the importance of multiplier.
QTP BFQ INA AT

(d) What are the measures to control
inflation?
TS g v JErE R R

(e) Define Phillips curve. What does the
short-run Phillips curve show?

Rferep @ ke fiwn | ZgeEE Rfrp cui
& or@m 2
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4. Answer the following questions :

(S)

Give the meaning of foreign exchange.
What are the instruments of foreign
exchange? '

@ R wid frn P RS
iP5 2

o LPPITRR Teq o :

(a)

(b)
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Define IS-LM curve. Explain the IS-LM
model with the help of diagram.

IS-LM @< %= fiar | IS-LM wifhr foa
RIS A0 41|

Or/ 91

Explain how LM curve is derived.

LM 391 g3 oreqd 91 =/, I 90

Explain the causes of demand-pull and
cost-push inflation.

AR ofn-RERe W TE-qRERe

FIEPHR AT
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(c)

(d
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(6)

Or / 9941

Discuss the effects of inflation on
production and distribution.

Teorm WF Aot eRe [WrRRA gew
STl 1 |

What is multiplier? Discuss the working
of multiplier.

2% ¥ 7 QT IR SIC=wAl 9 |

Or/ 9441

Explain the nature of short-run and
long-run aggregate supply curve.

IO O eI TEE @TE RR
oFfS T 390 |

What are the causes of disequilibrium
in Balance of Payments? Mention the
measures to correct the disequilibrium
in Balance of Payments.

T STOR SRR FRPEE & /2

TR STeR SPTRIRT! [ IREPHR

TEy )
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(7)

Or/ o[l

What is foreign exchange market?
Explain the functions of foreign
exchange market.

e Rt 33”2 ols R e
FRER T
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